=9 HY| 3A s of [} Held|=
1 A 10km| HAEEDOIRZIESH 40CH | 00:38:35.55
2 EFXF| 10km MForet=SE 50CHO| 4k | 00:38:48.85
3 =X 10km | HIAEEORIESE 30CH | 00:39:25.36
4 =HXF 10km | HIAEEDOREIESE 00:40:50.56
5 =Xt 10km MzdHASH 50CHO| 4t | 00:41:36.63
6 | At 10km | MFEZO|OEEEH 40CH | 00:42:04.31
7 SEE| EXEH 10km 2e|7|H=F0E2E 400 | 00:42:15.14
8 A 8= | &At| 10km MHZORZIESE 40CH | 00:42:43.51
9 ZHEE | X 10km | HIAEEORZIEZE | 50040] 4| 00:43:59.19
10 Bhod | HXH 10km | HIFE2IO|0j& 22 30CH | 00:44:17.12
11 A8 | EXt | 10km HFHHASY 40CH | 00:44:18.88
12 A | EXt | 10km H=0rtESE 40CH | 00:44:19.62
13 Ol M | &Xt|10km MHUZORIESE 50CHO| A | 00:45:13.99
14 HEHY | EXF| 10km MHZORZIESE 40CH | 00:45:19.20
15 U5 | EAtH| 10km MEEaHASH 50CHO| & | 00:45:21.40
16 283 | A 10km MzdHAsH 40CH | 00:46:13.74
17 2| EXF| 10km MU ZOREEH 50CHO| A | 00:46:15.27
18 2roiZE | Z Xt 10km O E0r2tESH 50CHO| 4t | 00:46:21.82
19 MY | EXH 10km | AP EZORRIESH 50CHO| 4} | 00:46:53.14
20 Aot EXF| 10km OfE0f2tE2E 50CHO| & | 00:47:25.59
21 HEYM | X 10km | HAEEORRIEEE | 50CH0| 4 | 00:47:34.65
22 LA ZXH 10km OHE0t2tESH 30CH | 00:47:37.52
23 234 | A 10km M=oretEEE 50CHO| A | 00:47:59.54
24 SA G| &R 10km | HMFEz2O|of&=EEF | 50CH0| 4| 00:48:11.58
25 tEE | EXH| 10km HFHHASH 400 | 00:48:56.83
26 2Z= | Xt | 10km M=ForetESE 50CHO| &k | 00:48:57.83
27 O|Z=| &Xt|10km OfE0t2tEEE 50CHO| &k | 00:49:01.75
28 Bhe s | X 10km | HIAEEORRIESH 40CH | 00:49:41.01
29 AEE=E | EXt | 10km OfZE0t2tEE 400 | 00:49:41.34
30 YSHE | A 10km M=oretEESE 50CHO| A | 00:49:48.08
31 S40 | EX| 10km | HMFEZO|jsEEH 40CH | 00:49:57.57
32 d&O | EAH| 10km S PSR 50CHO[ 4 | 00:50:09.09
33 HaH | X} 10km OfE0tetEZ 40CH | 00:50:40.48
34 LEE | EXH| 10km OfE0t2tESH 50CHO| 4k | 00:51:34.85
35 o2 2| At 10km | MFECIO|Of=EZ " | 50CH0] 4 | 00:52:50.78
36 SFS S | EXH| 10km M=oretEESE 50CHO| 4 | 00:52:56.29
37 D25 | X 10km = PSR = 50CHO| A} | 00:53:41.22
38 DS T EXE| 10km MForet=SE 50CHO| 4} | 00:53:50.72
39 Bt S | Xt 10km M=FoetEE 50CHO| & | 00:53:54.39
40 =24 | &%t 10km M=oretEEE 50CHO| & | 00:54:05.68
41 ZSHY | &EXF| 10km M=oretEEE 50CHO| A | 00:54:35.16
42 ZME | ZXt| 10km == PSS =4 50CHO| 4 | 00:54:47.00
43 M= | EXt | 10km O E0r2tESEH 50CHO| A} | 00:55:31.41
44 O|&ZE | &t | 10km S RS R 50CHO| A} | 00:55:45.42
45 OPg e | Xt 10km| HAEEORIEZES | 50C0H0]2 | 00:55:55.08
46 &4 | Xt 10km = PSR = 50CHO| & | 00:56:13.89
47 Bl | EXb| 10km == PSR =4 40CH | 00:57:26.96
483 S8 | EAH| 10km M=oretEESE 50CHO| 4 | 00:57:33.70
49 o2l | gAH 10km | HIAEEOREIESE | 50CH0]4F | 00:57:40.06
50 At 10km | HMFEEIO|Of&EEEH 400 | 00:58:00.78
51 EAF 10km | Z2|-H Of2tE 23 | 50CH0| 2 | 00:58:03.85
52 XL 10km | HIAEEORRFEZE | 50C40| 4| 00:58:22.47
53 SEXE| 10km e 7N 400§ | 00:58:43.15
54 =X 10km | HIAEEDORRFEZSE | 50C40[4 | 00:59:15.92
55 =Xt | 10km M=ForetESE 400§ | 00:59:34.74




=9 EENEETEES = (S]] HedIE
1 AMAS| | 0 X} | 10km HFAHASE 40EH 0] | 00:47:26.21
2 QF| A | X[ 10km| MHZORZFESE | 40CH0| A | 00:50:07.28
3 A7YO0H | oAt 10km | HIAEEORIESE | 400H0| 2 | 00:50:08.58
4 42F | oAt 10km| Z2|-3 Or2tE 28 | 30C000[ 2 | 00:50:24.00
5 43l | oAt 10km | EE|Z|HMFQI2E | 40THO| | 00:50:45.16
6 &% | o Xt | 10km O E0r2tE2E 400l | 00:51:25.37
7 wdE | A 10km| EE[Z7|HFAEE | 40CH0[4 | 00:52:07.41
3 Zsi= | o x| 10km HFOetES Y 40CHO| 4 | 00:53:58.73
9 8| oA 10km | HMFEEHO|0f£E2E | 40CH0| < | 00:54:22.56
10 &1 5| | O X} | 10km M=0rEtESE 40CH 0l | 00:54:38.72
11 U3 o Xt 10km R 40CHO| & | 00:55:32.72
12 510/ | &t 10km| MHZORRIESE | 40CH0| A | 00:56:19.60
13 0| 3| | 0§ X}t| 10km HFHHAZHE 40CHO| & | 00:57:41.63
14 A= | A 10km | MFEZIO|O&ESE | 400H0|4 | 00:58:19.17
15 = | O Xt| 10km XN ForetEEE 40CHO| 4 | 00:58:44.58
16 229 | 0{X} | 10km | HAEEORRIESE | 400H0|Y | 00:59:17.37
17 HEA|S | O XF| 10km HFeHAZSE 40CHO[ % | 00:59:21.92
18 AH3| | OXt| 10km| HIAEEOFELESE | 40CH0[4 | 01:00:39.81
19 dM= | o 10km | HIAEEORERIESE | 400002 | 01:03:53.06
20 D™= | 0| X}F| 10km MFoetE2E 40CH 0l | 01:03:53.90
21 A=A AKX 10km|  ZEIZIHFCIZE | 40CH0| 4 | 01:04:27.66
22 ¥+ | o X} | 10km O E0ret=E2E 40C 0l | 01:06:24.66




